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BHER
ey

ERRITBITOVHBEIERE(FND2)

% g - KR Bifr 2 il & &8 w ZE
EREIEH 289, 456, 925
MEIER 28,408,237 + 56,317, 194 84,725, 431
HEREE GD 11,941,038 + 15,204,206 + 1,262,993 28, 408, 237
HBERHE (BE) 11,941,038
HBERER (R) 277,449,032 x 5.48% ((5.32%) x 1.03) 15, 204, 206
BSRENER 268,722,125 x 0.47% 1,262, 993
RnEER 304,417,269 x 18.50% ((17.79%) x 1.04) 56,317,194
T=RfE 289, 456,925 + 84,725, 431 374,182, 356
—REEEZ 360,734,463 x 14.32% (14.32% x 1.00) — 3,824 51, 653, 351
RFRTHE 360, 734, 463 x 0.04% 144,293
T &l 374,182,356 + 51,653 351 + 144, 293 425,980, 000
HEREHELE 425,980,000 x 10.00% 42,598, 000
HATISE 425,980,000 + 42,598, 000 468, 578, 000




BERRE

ERRITBITOVHBEIERE(FND2)

4 L] i - KT BfT #H = il & B W OE
EEISE 289, 456, 925
HAMRGHE (TTO0VIBRKRY M) 231, 847,995
BEMHEET 69, 127, 483
METELT 69, 127, 483
HHEERR (LB Y-+ (#EHR) t=32~40cm 4,687,410
1 #ER (T (a9 ) — FEHEER 910. 00 5,151.00 4,687,410
YigL) (BRE) -
EHEERR (LB Y-+ (#ERR) t=40~42cm 7,548
2 HEEER (LI (o) — R 1.00 7,548.00 7,548
YigL) (BRE) -
ZIED d150 5,271,501
3 avy)— bEERHEIFL (yO—35F 639. 00 8, 259. 00 5,277, 501
) (&R "
WHY- MR B t=32~42¢cm 16, 247, 000
4 Hr—a2—t1x (&ME) t=32cm 7,700.00 2,110.00 16, 247,000
m2
WHY-MEERREIRE - KB 1,112,295
5 5l - KB (&M 2,557.00 435. 00 1,112,295
m3
RENIV))-MRAEH] - FEA 9, 856, 902
6 32U ) — MR - TBHI - FA (R 2,557.00 3,854.87 9, 856, 902
) m3
RENIV))- M HE K RE = 5,341,573
T REIVH)- B (TRFE) 2,557.00 2,089 5,341,573
m3




BEARRE £RARTISITOVHEETIE(Z02)

RENIV))-RFEA 2, 305, 646
8 KEIvh)-s%FEA (BRE) 2,557.00 901.7 2, 305, 646
m 3
RENIV))- M oE K ZREH 4,894,098
9 KENV)-IsEW: (BRRED) 2,557.00 1,914 4,894,098
m 3
REV))-bRA0 5 REV))-b5% 19, 218, 000
10 KEIIV)- bk 5 6, 406. 00 3,000. 00 19, 218, 000
t
WHY-HNEI - A 9=+ t=1.0cm~3. Ocm 170, 100
11 avy)-Mondl - F8A (&R 80. 00 2,126.25 170, 100
m2
Y- EE R 1,320
12 9)-MIEER (BEMEMRT) (& 1.00 1, 320. 00 1,320
fél)
m 3
VY- PERFE A 901
13 #&A QUY-15%) (B 1.00 901.7 901
m 3
Y- EE R ZREH 1,189
14 09)-MIHER: (BAMEMTI) (B 1.00 1,189. 00 1,189
fél)
m 3
RVIRIN T UE W)=k 6, 000
15 Iv)-bak s 3.00 2,000. 00 6, 000
t
THELTT 4,272,745
EEIT 4,272,745
#EHEl - A BA t=15~18cm 561, 480




BEARE ERRATHEIIOVRREIE(ZD2)

16 #EEI (=) ,200. 00 467.9 561, 480
m3

#EHEl - A T 84, 203

17 28I (&) 230. 00 366. 1 84,203
m3

THEER - RE BAE Gl 1,671,120

18 TRYEEW (RE) ,240. 00 1,206 1,495, 440
m3

19 Zith (RRE) ,200. 00 146. 4 175, 680
m3

THEER - RE BKRL (REL) 311, 052

20 LRMEEN (RRE) 230. 00 1,206 2717, 380
m3

21 =iy (M) 230.00 146. 4 33,672
m3

THE_RER - RE BAE Gl 1,385, 588

22 A O-27) (B ,200. 00 195.3 234, 360
m3

23 THEEW (BFE) ,240. 00 811.7 1,013,948
m3

24 =iy (BRH) ,200. 00 114.4 137, 280
m3

THEZRER - RE BKRL (REL) 259, 302

25 F&EA(O-2) (BFED 230. 00 195.3 44,919
m3

26 LRMEEW (RRE) 230. 00 817.7 188,071
m3

27 iy (BRH) 230.00 114.4 26, 312
m3

TEGET 156, 931, 752

WY M 154, 983, 752




BRERNRE ERERITHIIOLHRETE(Z02)
HEERT BREREIE 692, 153
28 BREREER () (WMD) 7,700. 00 89.89 692, 153
m2
LBk (T|E) RERERA (M-40) 9, 450, 749
29 LrERRAR () (KD 7,700. 00 1,227.37 9, 450, 749
m2
7" 34{h1-}+ PK-3 1,067, 990
30 IS4 La—F (avo)—EE 7,700. 00 138.70 1,067, 990
I) (&RME)
m2
IV - R B (5. 0-2.5-40 t=37cm HEMEHR 85, 007, 290
31 NChR (A-1) a>H)—F&HERT (= 331.00 12, 340. 00 4,084, 540
#) (&)
m2
32 NChlx (A-2) a>9 1)— MEHERT (% 312.00 12, 490. 00 3, 896, 880
#) (&)
m2
33 NChR (A-3) a>H)—h&HRT (= 117.00 12, 630. 00 1,471,710
#) (&)
m2
34 [\ICHﬁ (A-5) aYY I )—MEHERT (ZE 2,646.00 12, 340. 00 32, 651, 640
#) (&)
m2
35 [\ICHﬁ (A-6) OV 1)—FEHERT (ZE 2,490.00 12, 490. 00 31,100, 100
#) (&)
m2
36 NCh (A-7) 2>% 1) — FEHRT (ZE 934.00 12, 630. 00 11,796, 420
#) (&)
m2
WhY- M HEIF t=37~49cm 2:518E W 7, 460, 250
37 NCh (A-4) >4 1) — FEHRT (ZE 58.00 14,210. 00 824,180
#) (&)
m2
38 NChR (A-8) >4 1)— M&HERT (ZE 467.00 14, 210. 00 6,636,070
#) (&)
m2
- MR B t=37~49cm 25EE % 5,407, 500
39 NChlx (A-9) a>¥ J— MEHERT (= 200.00 15, 450. 00 3,090, 000
#) (&)
m2
40 NChx (A-10) 3 >4 ) — FEHERT ( 125.00 15, 450. 00 1,931, 250
&) (RM) "2




BEARRE £RARTISITOVHEETIE(Z02)
41 NCRR (A-11) a>H ) — MR ( 25.00 15, 450. 00 386, 250
%) (RRA)
m2
avHy ) —+ISUNVERRBE 7, 000, 000
42 )=+ VNERRBE (T 708 1.00 7, 000, 000. 00 7,000, 000
) %
aVy ) — RIS R 2,410, 800
43 H)-MEER MR ER (D) 28.00 86, 100. 00 2,410, 800
=]
aVy ) — MEEREIEE IR 5, 404, 500
44 19 -MEER MR R AT (M) 9.00 600, 500. 00 5, 404, 500
=]
HERMUBRLERE 2,514,960
45 BEABLEERE (R 840. 00 2,994. 00 2,514, 960
m
Rl 1,000, 160
46 B¥ (REED 76.00 13,160 1,000, 160
m2
PEL—ILRERE 1,189, 650
47 BEL—ILRERE (M) 1,050. 00 1,133.00 1,189, 650
m
B thtt & 16, 370, 240
48 Bih#HE (T 7o) 1.00 16, 370, 240. 00 16, 370, 240
=
i =E:u] JT-1 1, 546, 980
49 FETBH# (FRR) 708. 00 2,185.00 1, 546, 980
m
eI Eith JT1-2 305, 900
50 IETHith ("R 140. 00 2,185.00 305, 900
m




BEARE ERRITBITOVHBEIERE(FND2)

I Bt J1-3 110, 740

51 BT Bt (&) 70. 00 1,582.00 110, 740
m

B3R B it JT-4 158, 830

52 WaEBH (TRME) 70. 00 2,269. 00 158, 830
m

HEIEth JT-5 240, 350

53 BT Bt (&) 110. 00 2,185.00 240, 350
m

I Bt JT-6 174,020

54 TET Bt (RRE) 110. 00 1,582. 00 174, 020
m

IR #E B th JT-7 2,118,292

55 UR#E B th () Hhy A Ik 682. 00 3,106. 00 2,118,292
m

IR #E B th JT-8 269,010

56 UNHE B th () Hhy A Ik 105. 00 2,562.00 269,010
m

fEr iR B it JT-9 366, 520

57 BaEBH# (TRMED) 110. 00 3,332.00 366, 520
m

avy ) —rEIR 297, 206

58 U-HEIFL (X < B#) (BRED 182. 00 1,633 297, 206
fl

E-—LESE 576, 422

59 E-—LEE (WA 7,700. 00 74. 86 576, 422
m2

<y hFEE 3, 696, 000




BERRE ERRTBITOVHBREIER(Z0D2)

60 ¥ v FEE (RMED) 7,700. 00 480. 00 3, 696, 000
m2

T-AUY HEMR (GEHER) 147, 240

61 7T—RYVIHRETL (RME) 2.00 73, 620. 00 147, 240
i

JFYDMFT 1,948, 000

3 YDIF 1,948, 000

62 3 U {FIFER (R 80. 00 24, 350. 00 1,948, 000
m2

RATHIZHT 1,516,015

RATHIZHT 321,099

-3 (BRI #Hf  W=30cmEH. R 56, 546

63 v—*x 25 (BERX) (A 49.00 1,154.00 56, 546
m2

-3 (BRI 26 W=15cm3E#. iR 109, 890

64 v—x> 5 (FERX) (WA 74.00 1,485.00 109, 890
m2

-3 (BRI e W=30cm=EH. R 27,069

66 v—*x 25 (BERX) (WMD) 21.00 1,289.00 27,069
m2

-3y (BiE) BHE W=30cm3E#R. R 24, 576

66 v—*x> U (FERX) (WA 24.00 1,024.00 24,576
m2

-3 (BRI B W=15cm3E#. iR 5, 836

67 ~—*x>J (BERX) (WMD) 4.00 1, 459. 00 5, 836
m2

-3 (BRI B2 XF. KHEH 5,529




BEARRE £RARTISITOVHEETIE(Z02)

68 v —x 25 (BEX) (&M 3.00 1,843.00 5,529
m2

-0 (HER) 28 XFE=R 11,539

69 v —x 25 (BEX) (&R 11.00 1,049. 00 11,539
m2

-0 (BHER) BB XF 5,919

70 v—x25 (8ERX) (R 3.00 1,973.00 5,919
m2

-0 GEm=) Bt W=30cm=E# 14, 271

-3y (GER=X) (KRR 21.00 679. 90 14,277
m

-3 (GEm) #@ W=15cm=E#H 32,970

12 -3 (A=) (R 70. 00 471.00 32,970
m

-3 (RER) #/  W=30cm=E#. Wig 805

13- (R (RED 1.00 805. 60 805
m2

-3 (RERD) BHE W=30cm3E#R. R 14, 065

T4 -3 (RER) (R 19. 00 740. 30 14, 065
m2

-3 (RER) B W=15cm3E#R. iR 12,078

5 - (RE) (RED 11.00 1,098. 00 12,078
m2

EEEBIHEE 1,194,916

IX—F VT HEE DA—42—> Ty bk 1,194,916

16 -39 HE (RMED 39.00 30, 638. 88 1,194,916
m2

HEAXMERSHE (GSEETTH) 41,271, 857




BEARRE £RARTISITOVHEETIE(Z02)

BEYHET 7,239, 417

HEELT 7,239, 417

SHEM (DB Y-+ (5EE) t=18~24cm 629, 420

T SRR (T1ET)  (BRED 220.00 2,861 629, 420
m

HilFl D150 462, 504

18 o>y ) — hMEZEREIFL (Y B—3F 56. 00 8,259.00 462, 504
FUIL) (R m

Wh)- MR E R t=18~24cm 2,366, 220

19 9+—4—t)%x (&RE) t=20cm 1,130.00 2,094.00 2, 366, 220
m2

WHY-MEEEMRBIE - KB 96, 570

80 Bl - K& (&) 222.00 435.00 96, 570
m 3

REV))-ARHE] - FEA 855, 781

81 a2y )— MHER: - EEI - BA (R 222.00 3,854.87 855, 781

fél)

m 3

RENIV))- M oE K REZ 463, 758

82 KEIV)-MRiER (R 222.00 2,089 463, 758
m 3

RENIV))-RFEA 200,177

83 KEIV)-MakiEA (BRE) 222.00 901.7 200, 177
m 3

RENIV))- M oE K ZREH 424,908

84 KEIV-MRER (BRE) 222.00 1,914 424,908
m 3

REVI- M5 W=tk (BERTRLY) 1, 668, 000




BEARRE £RARTISITOVHEETIE(Z02)

85 KEav)Y- ka5 556. 00 3,000. 00 1, 668, 000
t
TAT7 VMR L= R LT B t=bcm 34,053
86 HIEhRUIET (BM) 65. 00 523.9 34,053
m
TAT7h MRS AR TEA t=bcm 22,872
87 EHEEhRmEF (R 33.00 693. 1 22,872
m2
TAITW R E W 4,178
88 EMW (M) 2.00 2,089 4,178
m 3
TAI7h bR A 390
89 A (W-3") (BRD 2.00 195.3 390
m 3
TAITW R E W ZREH 5, 386
90 FHEH (BRE) 2.00 2,693 5, 386
m 3
TAI7h AR AL 53 5, 200
91 TA77hPERAL S 4.00 1, 300. 00 5,200
t
THELTT 586, 486
EEIT 586, 486
#EHEl - A BA  t=1bcm 79, 543
92 iRl (&) 170.00 467.9 79, 543
m 3
HEH| - A T8 t=1.2~5.3cm 10, 983
93 #EHI (&) 30. 00 366. 1 10, 983
m 3

10




BEARE ERRATHBEITAVHBRETIE(ZD2)

THEER - RE wa 229,908

94 TREEWM (WMD) 170. 00 1,206 205, 020
m 3

95 Eih () 170. 00 146. 4 24,888
m 3

TREER - RE TR (BREL) 40, 572

96 TRYEEWR: (RRED 30. 00 1, 206 36,180
m 3

97 Eih (R 30. 00 146. 4 4,392
m 3

THEER - RE wa 191, 658

98 A (W-3") (BRD 170. 00 195.3 33, 201
m 3

99 THEEW (BFE) 170. 00 817.7 139, 009
m 3

100 i (RRE) 170. 00 114.4 19, 448
m 3

TREER - RE TR (BRELT) 33,822

101 #&EA O-27) (B[ 30.00 195.3 5, 859
m 3

102 RYEEWE (BRRED 30. 00 817.17 24,531
m 3

103 it (RRE) 30. 00 114.4 3,432
m 3

EEMET 18, 494, 461

WHY-MEET 18,119,018

HEERT BRRER 101,575

104 BREREERS (Zi#) (WMED 1,130.00 89. 89 101,575
m2

LBk (ZE) RIERERA (M-40) 1,386, 928

1




BERRE

ERRITBITOVHBEIERE(FND2)

105 L/Epkas (%) (W) 1,130.00 1,227.37 1,386,928
m2
7" 34{h3-} PK-3 156, 731
106 754 La—k (22O )—+& 1,130.00 138.70 156, 731
£I) (RE)
m2
IV - R BhI+5. 0-6. 5-40 t=21cm 2,947,750
107 NCh (G-1) 3 >4 ) — FEHERT ( 225.00 9,070. 00 2,040, 750
E=E) (®ED
m2
108 NChR (G-2) 3 >4 )— FEHERT ( 50. 00 9,070. 00 453, 500
E=E) (®RED
m2
109 NChR (G-3) a3 >% — FEHERT ( 50. 00 9,070. 00 453, 500
E=E) (®E)
m2
IV - R B (Ft=21~28cm 2 18[E 6, 096, 090
110 NCh (G-4) 3 >4 ) — FEHERT ( 225.00 10, 010. 00 2,252, 250
EE) (®ED
m2
111 NChi (G-5) a3 >% )— FEHERT ( 125.00 10, 010. 00 1,251, 250
E=E) (®RED
m2
112 NChi (G-6) 3 >4 ) — FEHERT ( 25.00 10, 010. 00 250, 250
E=E) (®E)
m2
113 NChR (G-7) 3 >4 )— FEHERT ( 25.00 10, 010. 00 250, 250
EE) (®ED
m2
114 NChi (G-8) a3 >4 )— FEHERT ( 76. 00 10, 010. 00 760, 760
EE) (®ED
m2
115 NChi (G-9) a3 >4 ) — FEHERT ( 95.00 10, 010. 00 950, 950
E=E) (®RED
m2
116 NChR (G-10) a>H U — &R T ( 19.00 10, 010. 00 190, 190
EE) (®RED
m2
117 NChR (G-11) a>H J— &R T ( 19.00 10, 010. 00 190, 190
EE) (®ED
m2
IV - R BhI+5. 0-6.5-40 t=21cm 2,041, 480
118 NChR (G-12) a>H ) — F&HERT ( 21.00 10, 230. 00 214,830
E=E) (®ED
m2
119 NChR (G-13) a>H U — F&HERT ( 18.00 10, 230. 00 184,140
E=E) (®E) mo




BRERRE ERRTFTIOLHRETE(Z02)
120 NChR (G-14) > ) — &R ( 22.00 10, 160. 00 223,520
EE) (®ED
m2
121 NChR (G-15) a>H U — R&HERT ( 17.00 10, 210. 00 173, 570
E=E) (®RED
m2
122 NChR (G-16) o >H ) — R&HERT ( 20.00 10, 180. 00 203, 600
E=E) (®E)
m2
123 NChR (G-17) > ) — F&HERT ( 41.00 10, 210. 00 418,610
EE) (®RED
m2
124 NChR (G-18) o >H ) — R&HERT ( 20.00 10, 230. 00 204, 600
E=E) (®ED
m2
125 NChR (G-19) a>H U — F&HERT ( 41.00 10, 210. 00 418,610
E=E) (®RED
m2
aVvo)— ISV FREEREBE 700, 000
126 209)-b7" IVMNERBEEE (GSEATTH 1.00 700, 000. 00 700, 000
) =
HERIRRERE 393,120
127 WEAERZRERE (&WED 168. 00 2, 340. 00 393,120
m
Bl 236, 880
128 4 (RR) 18.00 13,160 236, 880
m2
MEL—IILBRERE 348,964
129 BiEL—ILERERZE &) 308. 00 1,133.00 348, 964
m
Bt H & 1,684, 311
130 BEHidt¥E (GSERATH) 1.00 1,684,311.00 1,684,311
=
EIB# JTG-2 340, 860
131 IET Bt (&) 156. 00 2,185.00 340, 860
m
HEIBi JTG-3 32,715

13




EERNRE ERRATHBEITAVHBRETIE(ZD2)
132 BT B#1 (D 15. 00 2,185.00 32,715
i =E:u] J16G-4 23,730
133 BT B#1 (D 15. 00 1,582.00 23,730
T i JTG-4' 12, 656
134 BT B#1 (D 8.00 1,582.00 12, 656
f&z5k B it JTG-5 124, 795
135 sk B #1 (D 55.00 2,269. 00 124,795
f&z5k B it JTG-6 181, 520
136 BzsRBE#1 (D 80. 00 2,269. 00 181, 520
i =E:u] JT6G-7 21, 850
137 BT B#1 (D 10. 00 2,185.00 21, 850
T i JTG-8 28, 476
138 BT E#1 (&) 18. 00 1,582.00 28,476
HIE# JT6G-8 44, 296
139 BT B#1 (D 28.00 1,582.00 44,296
IR B i JT76-9 522, 200
140 IRi#E B #b (&R hoB Ik 175. 00 2,984.00 522, 200
IR B i JTG-10 31,720
141 IRi#E B # (&R hoB Tk 13.00 2,440.00 31,720

14




BERNRE ERRTBIIOVRBETE(FD2)
fEZaR B i JTG-13 33,320
142 ek B (%A 10. 00 3,332.00 33,320
m
T 84, 591
143 E-— &4 (KRR 1,130. 00 74. 86 84, 591
m2
Ty MEE 542, 400
144 = v FEE (RME) 1,130. 00 480. 00 542, 400
m2
TAITNMERE T 375, 443
SHEEAEFT R 19, 644
145 BREREf (i) (&) 33.00 595.3 19, 644
m2
LRE®RE (£H) MEFERE (M-40) 197, 168
146 L[ERgHR (TH) (&) 33.00 5,974. 80 197,168
m2
TAI7I MR BEZHET Y (13) 158, 631
147 =& (BEE-BREH) (RHE) 33.00 4,807 158, 631
m2
BEKT 13, 883, 067
HKIHRHE 13, 883, 067
TL—F U ERE 0.995x 1x0. 147 6, 499, 999
148 JL—F U IEREE (BM) 55. 00 118, 181. 81 6, 499, 999
E5'¢
%< TERRL S 29, 403
149 HBIGHE SEMl (BRI 3.00 9, 801 29, 403
[

15




HEEWERE EERTHETIOVHRETE(Z02)
BRI L—F o IENNE -216, 000
150 ik L—F o E0NE 6.00 -36, 000. 00 -216, 000
t
iR 320, 540
151 QIEFR (B 55.00 5,828.00 320, 540
m
FobELY 426, 448
152 Fw EYS (BRE) 44.00 9,692. 00 426, 448
m2
7L 16 x 105mm 533,997
153 HIFL (BR) #HKIfERHE O 748.00 713.90 533,997
16 x 105mm
fl
HERIT oh—%RE 226, 270
154 HEBIToh—HRE (BRI 748. 00 302. 50 226, 270
fl
Bl 247,050
155 ®## (BRRE) #HKIFRKER 27.00 9, 150. 00 247,050
m2
Bega vy ) — MMTE 0 ck=24N/mm2 390, 200
156 Biga >y ) — M7 (RAED  BE 3.00 113, 400. 00 340, 200
KIHEHR
m3
157 09)-47" VMERZEEBE (GSEEITH 1.00 50, 000. 00 50, 000
i ¥/ ) .
=
7353 Fo— LRt AK-90 4,468, 999
158 75 = Ko — RBAMT (REED) 43.00 103, 930. 23 4,468,999
m2
7L 30 x 200mm 295, 680
159 HIFL (BR) #HKIfERHE O 264. 00 1,120.00 295, 680
30 x 200mm A

16




BERRE

ERRITBITOVHBEIERE(FND2)

HEMIToH—%RE

660, 481
160 HEHETT7 o H—HRE (BRRED) 1.00 660, 481. 00 660, 481

=
RATHIZHT 1,074, 426
RATIHIZH T 93, 982
-3 GERER) B & W=30cm=E#z 14, 957
161 v-¥v4° CGamz)  (&ED 22.00 679.90 14, 957

m
-3 GERER) BEW=15cm3EH# 43, 889
162 v-¥v4° CGamz)  (&ED 113.00 388. 40 43, 889

m
-3 (RER) B&EW=15cmE#Z 35,136
163 349" (RE&) (&R 32.00 1,098. 00 35,136

m2
TEEZHIEE 980, 444
I—FUTEE otr—2—Tzw bILiE 980, 444
164 -39 BE (&R 32.00 30, 638. 88 980, 444

m2
HAMRGHE (GSEESHR) 16, 331,073
BEYHET 274,085
HERELT 224,905
TAT7 IV MEREE LI BT 22,521
165 SZERRYIET (B[ 43.00 523.9 22,527

m
TAT7h MRS AR TEA 139, 932

17




BEARRE £RARTISITOVHEETIE(Z02)

166 ghi=hREER (BRRED) 276.00 507 139, 932

m2
TAITW R E W 20, 846
167 &k (R 14.00 1,489 20, 846

m 3
TAITM MRS 41, 600
168 7A77Mhh5RALS> 32.00 1, 300. 00 41, 600

t

URMBIE R E 49,180
VYY) — MEEYEIEL gy )—F 31, 340
169 BEYMMYEL (BR) 2.00 15, 670. 00 31, 340

m 3
JL—FUUERE - on 1,027
170 JL—F o9 &EHE (BED 6.00 171.20 1,027

®
h)- bR 1,803
171 09)-P5582  (BRRED 2.00 901.7 1,803

m 3
) RIER 3,010
172 3v9)- a8 (BRED 2.00 1,505 3,010

m 3
Y-t Y- (B 12, 000
173 vh)-psan s> 6.00 2,000. 00 12,000

t

EELT 1,241,259
Rl 1,101, 482
RE - A BH t=35cm 15, 668

18




BEARRE £RARTISITOVHEETIE(Z02)

174 g8 (B[R 40. 00 391.7 15, 668
m 3

#EHEl - A T8 165, 456

175 #EAI (B[ 540. 00 306. 4 165, 456
m 3

TREER »E 32,924

176 TRYEEW (BRRED 40. 00 708.7 28, 348
m 3

177 24 (BR) 40. 00 114.4 4,576
m 3

T REER T 444, 474

178 TREEWE (BRRED 540. 00 708.7 382, 698
m 3

179 4 (BR) 540. 00 114.4 61,776
m 3

PN T 95, 697

180 #&EA (b-2") (B[ 490. 00 195.3 95, 697
m 3

TREER T 347, 263

181 REEE (BRRED 490. 00 708.7 347, 263
m 3

BERELT 139, 777

BREREEL REH%EH# CBR14% L 568

182 EREKEELT (RRH) 2.00 284. 1 568
m 3

BRERE#RZ t=1m. BEFHEH CBR14%LIE 139, 209

183 BREREE LT (BRI 490. 00 284.1 139, 209
m 3

EEMET 7,492, 240
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BRERRE ERRTFTIOLHRETE(Z02)
WHY-MEET 6,919, 785
HEERT 25, 854
184 BREREER (%) (BM) 464. 00 55.72 25, 854
m2
LrERE () PERZERAE (M-40) 543,743
185 LERRAR (%) (BR) 464. 00 1,171.86 543, 743
m2
7" 34h3-}+ PK-3 64,078
186 754 La—k (2O )—LE 464. 00 138.10 64,078
£I) (BRE)
m2
- M #H (5. 0-6. 5-40 t=21cm 1,940, 980
187 NChR (1) 2a>o ) — MR I (E 108. 00 9,070. 00 979, 560
) ("MED)
m2
188 NCh (7) 2>y ) — FEHRTI (E 106. 00 9,070. 00 961, 420
) ("MED
m2
IV - R A Et=21~28cm 25 18[E 2,022,020
189 NChR (2) >y ) — FERI(E 217.00 10, 010. 00 270, 270
) ("MED)
m2
190 NCklx (3) =>4V — hEsRI (2 108. 00 10, 010. 00 1,081, 080
) ("MED)
m2
191 NChR (5) 2>y ) — FERI (E 21.00 10, 010. 00 210, 210
) ("MED)
m2
192 NChR (8) 2> ) — FEHSRT (FE 26. 00 10, 010. 00 260, 260
) ("MED)
m2
193 NChR (9) >y ) — MR T (E 20.00 10, 010. 00 200, 200
) ("MED)
m2
IV - R A Et=21~28cm 3&iE[E 500, 640
194 NChR (4) avH U— &R (E 217.00 10, 430. 00 281,610
) ("MED)
m2
195 NChi (6) >4 ) — FEHSRT (FE 21.00 10, 430. 00 219, 030
) ("MED -
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BEARRE £RARTISITOVHEETIE(Z02)

ALY U=+ TS rRERBE 400, 000

196 29947 UM REIEEE (GSEBIBIL 1.00 400, 000. 00 400, 000
) A
Y

PERLARERE 118,413

197 @RARBREME (R 69. 00 1,437.00 99,153
m

198 MRAUAREME (RR) 12.00 1, 605. 00 19, 260
m

BEL—LERERE 67, 356

199 Mg L—LREHE (BM) 97.00 694. 40 67, 356
m

EEEZERE 610, 734

200 BibtTHE (GSEBHILR) 1.00 610, 734. 00 610, 734
Y

ETE® JTG-1 100, 736

201 ETE® (B 64.00 1,574.00 100, 736
m

WiRE#® JTG-5 89, 550

202 WiRE® (BM) 45.00 1,990. 00 89, 550
m

ETE® JTG-12 35,409

203 ETEE (B 29.00 1,221.00 35, 409
m

ETE® JTG-14 25,184

204 ETEE (B 16.00 1,574.00 25,184
m

IRfEE JTG-15 118,378

205 IRfiE B b (B F) h 8Tk 58. 00 2,041.00 118,378
m
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BEARE ERRITBITOVHBEIERE(FND2)

avy ) —rEIR 72, 345

206 Iv9)-MEIFL (S < B (BRD 75. 00 964. 6 72,345
fl

E-— &S 28,925

207 EZ—LEE (BRE) 464. 00 62.34 28,925
m2

<y hEE 155, 440

208 = v FEE (B 464. 00 335.00 155, 440
m2

TATTMMERSE T 572, 455

SHEERT BRERE 9,138

209 BRERERS () (BRE) 164. 00 55.72 9,138
m2

TERE (ETH) FERERE (M-40) 192,185

210 LERkE (Z=H) (BM) 164. 00 1,171.86 192,185
m2

TAI7I MR BEZHET Y (13) 371,132

211 RE (HE-BEL (BFE) 164. 00 2,263 371,132
m2

BikT 2,016,197

BkT 2,006, 043

EERA RC-40, t=15cm 90, 342

212 £BRE (BRD 63. 00 1,434 90, 342
m2

EfEa Lo )— o ck=18N/mm2. t=10cm 206, 040

213 E#Eavpy-+ (B 6. 00 34, 340 206, 040
m3
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BEARRE £RARTISITOVHEETIE(Z02)

ERERP 62, 091
214 EFERI (BR) 9.00 6, 899 62, 091
m2
BELZIL 1:3.0. t=2cm 21,380
215 HELZIL (HHE) (B 1.00 21, 380. 00 21, 380
m3
AvNn—ravyy—+k o ck=18N/mm2 137, 360
216 A /N\— kavhy-b (BRE) 4.00 34, 340 137, 360
m3
#®iTbavHy—k o ck=18N/mm2 64, 360
207 #3159 —F (BRRED 2.00 32,180.00 64, 360
m3
Xiadm (BEK) JKB& (800 % 1100 x 1000~ 2000) 176, 400
218 UBEIBIEAT (Gefeq) (1) (B 25.00 7,056. 00 176, 400
fil)
m
Xiam (BEK) JKE& (800 x 1200 x 2000) 127,008
219 UBEIBIRAT (Gfeq) (2) (B 18.00 7,056. 00 127,008
fil)
m
Xiadm (BEK) JKB& (800 x 1300 x 2000) 14,112
220 UBEIBIRAT (S#6&) (3) (B 2.00 7,056. 00 14,112
fil) m
& (ARSI L—F>5 . $485B800R) 63,075
221 ME T L—F U RE (BRE) 87.00 725.00 63,075
b5d
Xim (MBS L—F o5, §8B800A ( 2,175
O )
222 MRS L—F U H%E (BIOf) ) 3.00 725.00 2,175
b5d
kBt (B1100 x L1100 x H1300) 401, 500
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BERRE

ERRITBITOVHBEIERE(FND2)

223 BIHITH EKH (B

1.00 151, 900 151,900
&R
224 H£k#iE (RRE) 1.00 249, 600. 00 249, 600
"
kBt (B1100 x L1100 x H1600) 444,700
225 BIGITH EKH (R RE) 1.00 195, 100 195, 100
&R
226 F£k#iZE (RRE) 1.00 249, 600. 00 249, 600
"
EREE HP @600 195, 500
227 t1-LE (BME) 5.00 39, 100 195, 500
m
BAZET 10, 154
BAZET 10, 154
228 B¥: (BRMED) 1.00 6, 899 6, 899
m2
229 oy ) — MTER (BRRED 0.10 32,550 3,255
m3
RATIHIER T 25, 309
RATHEAZESRT 25, 309
-3 (R B & W=30cm 19, 396
230 -9 GEmE) (R 36.00 538. 80 19, 396
m
-3 (GEm) B&W=15cm 5,913
231 -39 GEm) (R 16. 00 300. 20 4,803
m
232 -39 GEmER) (R 4.00 271. 60 1,110
m
it T 17, 288
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BEARRE £RARTISITOVHEETIE(Z02)

HEET 17, 288
RZ 17, 288
233 5RZ (B 8.00 2,161.00 17, 288
m2
RE&ET 5, 264, 695
RE&ET 5, 264, 695
BhEEAL IR ZL&l (PK-3) & 346, 750
234 754 La—+ (KD 2,500. 00 138.70 346, 750
m2
EABGLERERT 2,531,997
235 HEM B ERE (RHE) 1.00 1,232,517.00 1,232,517
=
236 HEzEEE (&M 26. 00 24, 990. 00 649, 740
t
237 HEsEgE (R 26. 00 24, 990. 00 649, 740
t
RBFEERE 2,184,660
238 RBAFEE RS (KRED 111.00 19, 220. 00 2,133, 420
AH
239 RBFEE RS (BRRED 4.00 12, 810. 00 51, 240
AH
SRR E 162, 288
240 kR ER 24.00 6, 762. 00 162, 288
"
EEZE 39, 000
241 RERFEER 1.00 39, 000. 00 39, 000
=l
HiERZE FEL) 11, 941, 038
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BEARRE £RARTISITOVHEETIE(Z02)

HiB R 11, 941, 038
HEBERZE 11, 941, 038
EfRE 3,900, 032
ERRMW O BREILER 3,416, 600
247 BEEMWOMEMAIREE (BRE) 2.00 694, 300. 00 1, 388, 600

=l
243 BEEMW MRS (RE) 2.00 1,014, 000. 00 2,028, 000

=l
REEMEWE 483, 432
244 (REEMEER (B HRZHH 1.00 263, 640. 00 263, 640

=
245 (REEMEER: (B Bk 1.00 219, 792. 00 219,792

=
£KE 2,007,040
RIBE 83, 440
246 R1BrE (B 40. 00 2,086 83, 440

m 3
TRYEER 483, 600
247 TREEH (B 40. 00 12,090 483, 600

m 3
noneg 1, 440, 000
248 B 40. 00 36, 000. 00 1, 440, 000

m 3
2eE 4,480, 000
KEEEHA 4,480, 000
249 RHEEAE (&) BHE, B 1.00 4,480, 000. 00 4,480, 000

=
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BEARRE £RARTISITOVHEETIE(Z02)

BT EEE 1, 553, 966
L— S —EE 620, 667
250 L—45—8&& (R 657. 00 944.70 620, 667

m
FWDER & 265, 899
251 FWDEAZE (&) 6.00 44,316. 66 265, 899

i 25
E AR S Arat ER 667, 400
252 FiREEAER (W) 10. 00 56, 600. 00 566, 000

i 25
253 FiREERER (R 2.00 50, 700. 00 101, 400

i 25
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BEfR-BEIL/ \vr—> ERRFIBITOLVRBETE(ZND2)

&5 1
AF: FERR (U (QroU— bFEERYEL) (BRED 100m4 Y
% 7 R - AT By H = B Of € W = s &
LEEXE
A 2.000 16, 800. 00 33, 600
avo)—rhvui
B 1.020 40, 550. 00 41, 361
avo)—rhvu4i
B 1.020 41, 450. 00 42,279
aviy—rhvs  (TL—K) ZE1440F
® 1.020 52, 600. 00 53, 652
avhoy—rhvs  (TL—K) Z2240F
® 0.700 84, 500. 00 59, 150
aviy—rhvs  (TL—K) #3004 F
® 0.740 123, 000. 00 91, 020
aviy—rhvs  (TL—K) #3844 F
® 0.730 176, 000. 00 128, 480
EME (E+FELHH)
% 56. 000 117, 240. 00 65, 558
& it YEZ£8EA : 100.00m 5, 151.00 515, 100

FEERSMEE T L
FHE—IEMIE - T L FrfRHIRIC &K HHHIE - &L




B@R-EIT/\vr—> ERRFIBITOLVRBETE(ZND2)

&5 :2
AF: FERR (U (QroU— bFEERYEL) (BRED 100m4 Y
% 7 R - AT By H = B Of € W = s &

LEEXE

A 3. 000 16, 800. 00 50, 400
avo)—rhvui

B 0.926 40, 550. 00 37, 549
avo)—rhvu4i

B 0.926 41, 450. 00 38, 382
avo)—rhvui

B 0.926 41, 650. 00 38, 567
avhoy—rhvs  (TL—K) ZE1440F

® 1.020 52, 600. 00 53, 652
aviy—rhvs  (TL—K) Z224F

® 0.700 84, 500. 00 59,150
aviy—rhvs  (TL—K) #3004 F

® 0.740 123, 000. 00 91, 020
avhoy—rhvs  (TL—K) #3844 F

® 0.730 176, 000. 00 128, 480
avhoy—rhvs  (TL—K) Zia64F

® 0.580 285, 000. 00 165, 300
EME (E+FELHH)

% 56. 000 164, 898. 00 92, 300
= it YE%HEH : 100.00m 7,548. 00 754, 800
FISEFRESMEE T L
FIE—IEMIE - T L BERAIFIFSIC L BHHIE - AL




B@R-EIT/\vr—>

ERRITBITOVHEREIE(Z0D2)

&S :3
G Oy ) — MREREITL (V0—3 FUL)  (FRRED TmZ%HY (100m)
4 73 FRHE - AR IR B3 H 2 B i %8 i " =

TAR—AEtHEER

A 1.980 41, 300. 00 81,774
TEFEEE

A 1.980 28, 730. 00 56, 885
yBa—>—FYJL 7 SR FaT-45%

B 1. 980 245, 900. 00 486, 882
rryAay kR T51

B 0.160 134, 900. 00 21,584
BHlEOwY R

B 0.160 153, 300. 00 24,528
=7

ZN 0.160 51, 100. 00 8,176
BlEEY b

& 0.160 161, 000. 00 25, 760
PhEEESTR 2a—5—FYJILD%

% 5.000 486, 882. 00 24, 344
ZTOhERE HEE FHEEO®

% 20.000 138, 659. 00 21,731
TEFEEE

A 1.980 28, 730. 00 56, 885
ZTOMBERE (E+FE5HH) BEXE FHEEO®

% 20.000 56, 885. 00 11, 351
= it YEZERES - 100. 00m 8, 259. 00 825, 900

FEERSMEE T L
FHE—IEMIE - HY [1.7100]

FrfRIHIRIC & HHHIE - &L




B@R-EIT/\vr—>

ERRITBITOCHREFISE(ZD2)

EFS:4
B vA—F—t UK (KM t=32cm Tm2%Y (100m2)
% 7 R - AT By H = B Of & ) W = s &
TAR—ARtHEEE
A 0.580 41, 300. 00 23, 954
YRIEXR
A 1.160 35,910. 00 41, 655
Ny R YERRMTEE T IUFET. 9m3
=] 0.580 133, 400. 00 71,372
HERXEVX
=] 0.580 100, 000. 00 58, 000
J)REEEE
k g 0.340 12, 500. 00 4,250
EME(E+FEDLD) HESE - HER—XRIEEE
% 10. 000 58, 000. 00 5,769
& it YE%HEH : 100.00m 2 2,110.00 211, 000
FISEFESMEE T L
FIHE—RME - HY [1.7100] BEREIRIHIROIC & BHHIE : 2L
EFS:5
& BIRE - KB (&M Tm3ZHY (306m3)
% 7 R - KT By H = B Of & ) W = s &
Ny R YERRMTEE T IUFET. 9m3
=] 1.000 133, 400. 00 133, 400
HMHE(F50)
= 1.000 133, 400. 00 0
& it YE%HEH : 306.00m 3 435.00 133, 400

FEERSMEE T L
FHE—IEMIE - HY [1.7100]

FrfRHIRIC & HHHIE - &L




BEfR-BEIL/ \vr—> ERRFIBITOLVRBETE(ZND2)

&5 :6
& a2y ) — MR - RE - FA (RRED Tm3#Y (82m3)
% 7 g - BIRTE B H = B Of € W = s &
Ny R HExt2R - 1LF50. 45m3
B 1.000 51, 950. 00 51,950
REEERHE Ny IR Bext 22k - 1LFE0. 45m3 + B R 2 & 550 ~ 980kN
B 2.000 67, 700. 00 135, 400
TAR—ARtHEEE
A 1.000 41, 300. 00 41,300
LEEXE
A 3. 000 28, 730. 00 86, 190
EME(EL+FEDLD) FHEBED%
% 1.000 127, 490. 00 1, 260
= it 1YE%HESH : 82.00m 3 3,854.87 316, 100
TIEEREAMEIE AL
FHHE—IEMIE - HY [1.7100] B ROHIRIC K AHHIE - H L
&5 .17
B - KBIV))- 08 (") Tm3HY
% 7 R - BIRTE B H = B Of & # W = s &
REVY)-M0E R (M)
m3 1.000 2,089 2,089
= it 1E%HEH : 1.00m 3 2,089 2,089
FIEEREAMEIE AL
FHHE—IEMIE - HY [1.7100] B ROHIRIC K AHHIE - T L
%5 :8
B . KEV))-+35FEA (BRE) Tm3HY
£ 7 g - BIRTE B H = B Of & # W = s &
KEIIVH-155FEA (B
m3 1.000 901.7 901.7
= it 1E%HEN : 1.00m 3 901.7 901.7
FIEEREAMEIE AL
FHE—RBMIE - 2L BERAROHIRIC K AHHIE - B L




BEfR-BEIL/ \vr—> ERRFIBITOLVRBETE(ZND2)

&5 :9
B - KBIV))- 108k (BRE) Tm3%Y
2 Lo R - AT BARL H = B € W = B %
REVY)-M50E R (BRRE)
m3 1.000 1,914 1,914
& & {E%8EH : 1.00m 3 1.914 1,914
FIEEREAMEIE AL
FH—EWE: BTL B ROHIRIC K BHHIE - T L
H5:10
L . KEv))-rRn s 100t Y
2 Lo R - AT BARL H = B € &8 W = B %
o Wh-bs% (BES - /) 0emALLE
t 100. 000 3,000. 00 300, 000
= it YE%HEH - 100.00 t 3,000. 00 300, 000
FIEERESMEIE AL
FH—EWE: BTL B ROHIRIC K AHHIE - T L
&H#5: 1
2 - ))-MIEl - FEA (R 1m25Y (80m2)
2 Lo R - KT BARL H = B € &8 W = B &
BRE VI E & e M-V - BEMIEIA - HExt22R - 0. 5m - LIHI
#20cm B 0.530 136, 400. 00 12,292
RS —ILO—58ix Hext2 - Ay MLFEO0. 3m3
B 0.530 41, 330. 00 21,904
TAR—ARtHEEE
A 0.530 41, 300. 00 21,889
LEEXE
A 1.600 28, 730. 00 45,968
HHE(E+FEH0) 2KN%
% 5. 000 162, 053. 00 8,047
= it 1E%HEH : 80.00m 2 2,126. 25 170, 100
FIEEREAMEIE AL
FHE—IEME - HY [1.7100] B ROHIRIC K AHHIE - B L




B@R-EIT/\vr—>

ERRITBITOCHREFISE(ZD2)

H5:12
B V- MIEIER (BEAHERT) (KD 100m3 LY
% 7 R - AT By H = B Of & ) W = s &
BT 59Y [F>Ba—Fk - T4 —E/IL]10tFER
=] 2.200 59, 990. 00 131,978
HHE (F58)
= 1.000 131, 978. 00 22
& it 1YE%#EH : 100.00m 3 1,320.00 132, 000
PSR EE T L
FIFE—RME - HY [1.7100] BERIRIHIFOIC & BDHHIE : 2L
H5:13
B A U))-h)  (RRED Tm3%Y
% 7 R - AT By H = B Of & ) W = s &
A QU))-t5%) (B[R
m3 1.000 901.7 901.7
& it 1E%HEH : 1.00m 3 901.7 901.7
PSR EE T L
FHE—IEMHIE - T L BEREIRIHIFOIC & BDHHIE : 2L
H5: 14
B V- MIEIER (BEALERT) (B 100m3 LY
% 7 R - KT By H = B Of & ) W = s &
BT S9Y [F>Ba—Fk - T4 —E/IL]10tFER
=] 2.500 47, 550. 00 118, 875
HHE (F58)
= 1.000 118, 875. 00 25
& it YE%#EH : 100.00m 3 1,189.00 118, 900
FISEFESMEE T L
FIE—IEMIE - T L BEREIRIHIFOIC & BDHHIE - 2L
H5: 15
2 . Y-S 100t 4Y
% 7 R - KT By H = B Of & ) W = s &
o Wh-bs% (BES - /) 0emALLT
t 100. 000 2,000. 00 200, 000
& it YE%HEH : 100.00 t 2,000. 00 200, 000

FHRENMEE L
FHE—REMEE L

FrfRHIRIC & HHHIE - &L




B@R-EIT/\vr—>

ERRITBITOCHREFISE(ZD2)

&H5:16
2 EE (R Im34Y
2 Lo R - AT By H = i | b B %
EEl (&M
m3 1.000 467.9 467.9
& &t 1EZHEH : 1.00m 3 467. 9 467.9
PSR EE T L
FHE—IEFME - HY [1.7100] BERAIFIFSIC K BHHIE - AL
&H5 17
B EE (R Im34Y
2 Lo R - AT B H = i o b B %
EEl (&M
m3 1.000 366. 1 366. 1
= it 1E%HEN : 1.00m 3 366. 1 366. 1
PSR EE T L
FHE—IEME - HY [1.7100] BERAIFIFSIC L BHHIE - AL
&H5:18
& TREER (RRED Tm3HY
2 Lo R - KT B H = i o b B &
TRYEER (R
m3 1.000 1, 206 1, 206
= it YE%HEN : 1.00m 3 1, 206 1,206
FISEFRESMEE T L
FHE—IEFME - HY [1.7100] BERAIFIFSIC L BHHIE - AL
H5:19
&% Bih (RME) 1Im3%Y
2 Lo R - AT B H = i o b B &
Bih (R
m3 1.000 146. 4 146. 4
& it E%£8EH : 1.00m 3 146. 4 146. 4

FEERSMEE T L
FHE—IEMIE - HY [1.7100]

FrfRHIRIC & HHHIE - &L




B@R-EIT/\vr—>

ERRITBITOCHREFISE(ZD2)

H5:20
2% . TREER (WHE) Tm33%Y
2 Lo R - AT By H = i | b B %
THEER (R
m3 1.000 1,206 1,206
& it 1E%EBEHN - 1.00m 3 1,206 1,206
PSR EE T L
FIFE—RMIE - HY [1.7100] BEREIRIHIFOIC & BHHIE : 2L
&H5: 2
&% Bih (RME) Im3%HY
2 Lo R - AT B H = i o b B %
Bih (R
m3 1.000 146.4 146.4
& &t 1EZHEH : 1.00m 3 146. 4 146. 4
PSR EE T L
FIFE—RMIE - HY [1.7100] BEREIRIHIROIC & BHHIE : 2L
55 :22
B FAW-R) (B Tm33%Y
2 Lo R - KT B H = i o b B &
/A O-17) (BRE)
m3 1.000 195.3 195.3
& it 1EZ%BEHN - 1.00m 3 195.3 195.3
FISEFRESMEE T L
FHE—BME : L BERIRIHIROIC & BHHIE : 2L
H5:23
2% . TREER (BF) Tm33%Y
2 Lo R - AT B H = i o b B &
TREER (BE)
m3 1. 000 817.7 817.7
& it 1E%EBEHN - 1.00m 3 817.7 817.7

FHRENMEE AL
FHE—REMEE L

FrfIRIHIRIC &K HHHIE - &L




B@R-EIT/\vr—>

ERRITBITOVHEREIE(Z0D2)

H5:24
&% Bih (BRH) 1Im3%Y
2 Lo R - AT By H = i | b B %
Zih (R
m3 1.000 114. 4 114. 4
& & {E%8EH : 1.00m 3 114. 4 114. 4
PSR EE T L
FHE—BME : L BERAIFIFSIC L BHHIE - AL
H5:25
B FEAW-R) (BRED) Tm3HY
2 Lo R - AT B H = i o b B %
/A O-3) (B
m3 1.000 195.3 195.3
= it 1E%HEN : 1.00m 3 195.3 195.3
PSR EE T L
FHE—BME : L BERAIFIFSIC L BHHIE - AL
H5:26
& TREER (BRRED) Tm3HY
2 Lo R - KT B H = i o b B &
TREER (BE)
m3 1.000 817.7 817.17
= it YE%HEN : 1.00m 3 817.17 817.7
FISEFRESMEE T L
FHE—BME : L BERAIFIFSIC L BHHIE - AL
&H5 2]
&% Bih (BRH) 1Im3%Y
2 Lo R - AT B H = i o b B &
Zih (R
m3 1.000 114. 4 114. 4
& it E%£8EH : 1.00m 3 114.4 114. 4

FHRENMEE AL
FHE—REMEE L

FrfIRIHIRIC &K HHHIE - &L
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B@R-EIT/\vr—>

ERRITBITOVHBREFIE(ZD2)

&H5:28
B BREREER (TH) ("M 1000m 2 241
% 7 g - BIRTE B H = B Of € W = s &
BRERER (Ei5)
m2 1, 000. 000 89. 89 89, 890
= it YEZERES : 1,000.00m 2 89. 89 89, 890
FIEEREAMEIE AL
FHHE—IEMIE - HY [1.7100] B ROHIRIC K AHHIE - H L
H5:29
&5 LEMER (EHE) (RMED 1000m 2 24 1)
% 7 R - BIRTE B H = B Of € W = s &
RERERR M—40
m3 205. 500 5,250.00 1,078, 875
LBk (22E)
m2 1, 000. 000 148.5 148, 500
= it YEZERES : 1,000.00m 2 1,2217.37 1,221,375
FIEEREAMEIE AL
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